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Task – please answer the following questions. 

1. What does Mr Lambchop do to Stanley to make it easier to 
take him places? 

2. What do you think Arthur was trying to do with the 
encyclopedias? 

3. How do you think Arthur feels about having a flat brother? 
4. Match the halves of the sentences so they are correct. 

1 Boys were flying A fly a kite too.      
2 Arthur wanted to B kites in the park.          
3 Arthur borrowed C in the branches.       
4 He made himself into D a kite for Arthur.         
5 Arthur left the spool E a large spool of string.                 
6 Stanley got caught F wedged in a tree. 
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